
ALL KERALA B}IAVAN'S S CHCI LA}{S}IIP EXAMINATION NOVEMEF,F- 2A22

Marks:1OO
Tirne: 2 hrs

ntL-tass: .!.2L

Date: 261 LI{ZAZZ

CENERAI- INSTRUCTIONS :

Read the instructions carefully before answering i
1' Please fitl up your Roll No. and class in the box provided on the oMR sheet.2' This question booklet contains 50 questions and 5 Tie Breaker questions. AIIquestions including 'Tie Breaker Questions' are mandatory. Tie Breaker questions willbe evaluated only in case of a Tie.
3. Each question carries 2 marks.
4. Each question has 4 answer choices a,b,c,d. i,?
5' For each question, select the best/correct'option and darken the trubble completelyagainst the corresponding question in the orvrn sheet provided.
6. use a blue/btack ball point pen to darken the bubtrle.
7. Darken only one bubble against each question.
8. There wiII be no negative marking.

Choosc thc correct answer lrom tfie options given.

- *.-WlraHr:es'Hit the s _
a'Go to bed b. Go to pray c. Hit the target d. Achieve something2. Which of the futlowing is-oi a synonl.rn for'vanquish,?

a. Quell b. r.out c. clisappear d. subdue3. Pick out the antonym for'apathetic '.
A. pathetic b. eager c. impassive

4. Point out the word which is misspelt
a. Beginning b. Hygiene c. Vacuum

5 I haven't seen her lately. Pick out thg word that rneans .lately,.
a. Recently b. In the evening c. Late at night d. Never

6- Find out one word for "a part which is absolutery necessary ..a. Incessant b- Additionar c. Indisputable d. Indispensable

7 - Identify the poetic device implemented in ..melancholy 
darkness .,a. Alliteration b. Metaphor c. Transferred epithet d. onomatopoeia

1300, then the angle between the bisectors of the other

d. stoic

d. Pronounciation

8. If one of the angles of a triangle is
two angles can be

a. 500 b. 650 c. 900

, thbn zB is
c. 530

d. 1550

d.950

d.9cm

9. In AABC, if zA-zB:420 and, zB_zC:210
a. 320 b.630

10. The area of an equilateral'triangle is B1r/3 cm2. Its height is
a. 9r/3 cm b. 6r/3 cm c. 1BG crn
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i',c of iircasurc
a I ()8fr b 5.j'' e J2( cl. ,\ 1''

12. ll'thcpolfilt,.nrialsaz:J lc,z) +'32-4and 2,3 1z*a lcavclhcsanrcremainiicr.u,hclrflrvrdeclbv
z 3.Irrnd the valiic oi':r.
a I b.-1 c.2 d.-)

13.'fhe pornt at whrch the graph of lirrear-equation r + 2y - 2 intersecls thc Y axis js

a (1, 0) b. (0, I) c (2,0) d (0,2) 
.

i4. Which of the follor,ving liirear equation has x - 9, y - 4 a solutior.r

a.2x*y:11 b.x+y:11 c.x*2y-17 d.3x 2y-17

i5. If angies A, B, C and D of a quadrilateral ABCD taken in order are in thc ralio
3: 7: 6:4. Then ABCD is a

a. rhombus b. parallelogram c. trapezium d. kite

16. ABCD is a quadrilateral in which P, Q, R and S are the midpoint's"of the sides
AR, RC, CD and DA respectively, Then which of the following is quadrilateral PQRS?
' u. Trupcziurn b. Krte u. Rhcrrrrbus d. Parallelogrurl

17. Ilydrogcn and oxygcn combinc in thc ratio of 1:8 by mass to form watcr. What mass of
oxygen gas would be required to react completely with 3 g of hydrogen gas?

a.30g b.24g c.9g d.Sg

18. A stone is thrown in a vertically upward direction with a velocity of 5 m/s. lf the acceleration

. of the stone during its motion is 10 mis2 in the dou'nlvard direction, then the height attained b1, stone

taken to artain thar heighr $dll he

a. 1.25m,0.5s b.1.25m, 1s c.2.25m,2s d.2.25m,3s

19. The tissue which makes up the husk of coconut and whose cells are dead, elongated and lignified is:

g. Chlorenchl,rna b. Collenchyma c. Parenchyma d. Sclerenchyma

20. A cell is having two boundaries, the outer being cell wall and inner being plasma membrane.

--Theinher:e-r-It-Braperty 

of this pair mor,'ing frarn-autcld-e to inside it; 

-
a. SerrripernieaLrle anrl Per-rrreable - b. Senrillelnreable and SenrSernreab-le

b. Permeable and Semipermeable c. Permeable and Permeable

21. The inertia of an object tends to cause the object
a. To increase its speed b. To decrease its speed

b. To resist any change in its state of motion c. To accelerate due to friction.

22. Matrer exists in three states viz solid, liquid and gas. The change from one state to another is
called phase change. The following statements are about phase change of a matter. Pick the

. correct statements from them
i. Phase change occurs at all temperature

ii. Two variables that affect the phase change are pressure and temperature.

iii. During a phase change temperature remains constant.

iv. During the phase change two phases coexist

a. Only iv .b. Only ii, iii and iv c. Only ii d. Only iii

23. A ball of mass 2009 has a momentum 2Ns. Its kinetic energy is
a.10J b. 0.1J c.lJ d.100J
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!'i A;lltirtg sc1-'al-iiiit-'tt ici:hnic:rtcs citror:lr.ltiLl ,,i',ltr.1llira1jol itncj cjialvsts u,ita1 is c,r.t-ii'.' is
:1. Al] scJlrit-llc srtlicl i;t Lus ilirlitr.es.
b. ln all ihe tctthniqLtcs thc pirvsrclri stalc ()1-1lrc colrporrcnls chapec
c. All techniclues ai-c irascd orr ihr- sizc of iire cor-l.rptrncnts.
,i Tltcl tio r)ul itlrr e arir iitr:rl irt L.r,])t!t]()t:

25. Chronroson-res are ntade up of
a. DNA b. DNA and Prolein c. Pr-otcin d. RNA

26. Which of the se provisions were passed by the Assembly on the niglit of 4 Aulust, 1 7g9?
a' Abolition of feudal system of oblisations b. Clergy had to give up its priviieges
c. Tithes were abolished d. All the above

2J. Decrease in iMR (Infant Mortality Rate) of a country signifies:
a. Increase in life expectancy
c. Econornic development of a country

b. Increase in GNP
d. Increase in number of colleges in a country

28' In the context of France the volunteers fiom Marseilles sang the Marseillaise, a patriotic song when
.1hey rnarched into Paris. Who cornposed this song?

a. Roget de Lisle
c. Marie Antoinette

, a. Sahyadri and Mahadev HillsaJ

c. Patkoi Hills and Manipuri Hills

b. Maximilian Robespicn-c
d. Mirabeau

29. choose the correct option bascd on thc tbllowing statements.
Assertion (A): Even though only the southem parl of India lies in tropical region.

almost the whole of lndia experiences tropical clinrate.
Rcasol (R): The Himalayan mountains act as a barrier un,l pre,r"nt the northerly colcl

winds frorn entering India.
a. Both A@correct explanation of A.
b. Both A and R are true, but R is Nor the correct explanation of A.
c. A is true, bul R is false.
d. A is false, but R is true.

30. U'-nich onc of thc following lakes is a saltwater lake?
a. Sambhar b. Dal c. Wular d. Gobind Sagar

3 1 TneTocial.rsfi=6ok-ver@o+effirneririfl Russia through: 
*

a. FebruaryRevolutionin 1905 b. octoberRevolution inl9l7
c. Socialist Revolution ii 1922 d. A revolt against the Monarchy in 1911 -

32. which two hills are located in the south-east of Eastern Ghats?
b. Kaimur hills and Maikal range

d. Javadi Hills and Shevroy Hills

33. "Rising from a spring near Mahabaleshwar, the river flows for about 1400 km and reaches
the Bay of Bengal. The Koyana,the Ghatprabha, and.the Bhima are some of its tributaries.'Its drainage basin is shared by Maharashtra, Karnataka, Telangana and Andhra pradesh,'.
which river has been described in the above-mentioned passage?
a. Kaveri b. Godavari c. Krishna d. Tungabhadra

34' There are fwo statements marked as Assertion (A) and Reason (R). Mark your answer as per the codes
provided below:

Assertion (A): When British left India, there were more than five hundred princely states in India
Reason (R): Princely states themselves initiated the process of integration of India
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a. Bolh A anci R ai-c lr-ric anc ll is thc cor-r'cc1 r-xllr:rnatior o1-A
b. Iloih A ar-rd Jl at'c lruc bu1 R is irot thc c(ll'ccl erplan:liion o1'A.
c. A is tme but R is 1alsc.
d. A is false but R is lr'Lre.

35. The lai'gest railway statjon in the North - E,as1 Fronlier Railr,r,ay js?
a. Maligaolt b. Mulakheda c. New Bongaigaon

36. Which of the following is cailed the 'Metal of the future '?
a. Lead b. Titanium c. Platrr-rium d. Mercury

37.In which country is the Lhotse ?

a. Nepal b. Bhutan c. Sri Lanka d. Afghanisrhan

38. Where is Hemis National Park situated?
a. Jammu and Kashmir b. Calcutta c. Bihar d. Himachal pradesh

i,?

39. National Sports Day is celebrated on which date in India?
a. September 1't b.Iuly 26 c. August 29 d.September 27

40. If the 5th date of month comes af\er 2 days from Tuesday, then which would be the day on the day
before Igth of rhat monlh? TV
a.Monday b. Wednesday c. Thursday d. Sunday

41. The chairman entered in the Assembly'F{all at 10 min. before 12.30 hours to conduct the inteniew. The
chaiquau was 20 min. earlier ftaullre managing director. The sharruaLwas J0_mu-latc ag per the tirne
fi xed. What ffiinterrriew?

-+-12:50 b. 12:10 c.12:40 d. 12:90

42. Findtwo words, one from each gtoup that are crosest in m.uning.
Group A: Talkative, Job, Ecstatic
Gloup B: Angry, Wind, Loquacious

d. Freon

a

a. r'alkative &amp; Wind
c. Talkative &amp; Loquacious

b. Job &amp; Angry
d. Ecstatic &amp; Atrgty

43. What numbe 4 as 10 :

a.3 b.7 c.24 d.5

44. How many triangles are in the following figures?

a. 10 b. 14 c. 12 d. 11

45. Which of the following statement is not true?
a. Cubes of all negative. integers are positive
b. Cubes of all odd natural numbers are odd
c. Cubes of all even natural numbers are even
d. Cubes of all positive integers are positive
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4(r. Wi,iclt olthc lirliou'iltg conclusion can i,.c:rudc ll'onr 51:itcnrcnl I and 2'l
l All l:lg,-'ttilrit' :l.l1t'I1)ul)l: Jii' r'tlli;liir'l)s
b n-11 L-quaiions arc iclentjt'je s

c. All identities are al!.e braic se nleltce s

d. Some identjties are algcbraic sentences

47 . T|'tc ratc of interest paid by a bartk is 8% pcr annutr. It nte atrs

a. The interest paid by the bank is 8rupees per year i
b. The interest paid by the bank is 8rupees per month
c. The interest paid by the bank is Smpees per 100 rupees per year

d. Thc interest paid by the bank is Srupee s per 1000 rupees per year

48. The situation of this area is out of control. People are requested to be I their home only.
Proposed inlerences

I. Some serious incident was happening there
il. The incident was a natural calamity
III. Normalcy will be restored shortly
a. Only I
b. Both I and II
c. Both I and III
d. All the above

49. Assertion (A): The rivers flowing from mountain to plains tend to lose their speed.

Reason(R): 'fhe slope become gentle over plains
a. Both A and R are truc and R is the correct explanation of A
b. Both A and R are tnte and R is not the correct explanation of A
c. A is true, but R is false 

-
-d- A-rs ffse, butRls true

50. Statement: Should open book system of examinalion bE encouraged'/

Arryments:
i. Yes, it will be helpful for the deeper understanding of the subject
II. No, this is not a true test
a. Both I and II are strong
b. Neither I nor II is strong

:ll e, Only argu
d. Only argument I is strong

TIE _ BREAKER
51. Pick out the antonym of the word 'austere'.

, a. Rigid
b. Stringent
c. Flexible
d. Simple, strict and severe

52.\f a:7 - 4",b find the value of r/a +fr
a. a.3
b. b.4
c. c.5
d. d. -4

53. Calculate the number of moles tn 179 of HzOz.
a. 2 moles
b. 0.5 moles
c. 0.75 moles
d. l mole
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54. 11-the rvorcl f,AXGER is rvr.itten as ECQKJX in cocleci language

a. F('.llW
b fDlr.lx
c. FBIHV
a FCJKX

55. The ten-u "Proletarianisation" refers to

b. To become impoverished to the level of rniddle classes

c. To become inpoverished to the level of ruling classes

d. To become impoverished to the level of working classes

e. To become impoverished to the level of upper classes

EAGtrR u,ili be u'rilten as

a

* * * :k )k )k )k * ?k* i< * J< * * * * * *

Al{Rqtr lNn\I )n)2 /(:p_A


